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A ERE
U5 e 27 O B i (] UEE 75 U T AR TR
1 AR 0.757 28810. 256 75778. 000 3.2349
2 H ke 0. 840 233426. 281 1952089. 125 96. 3707
3 AR 2.815 1212. 170 9665. 150 0. 3944
4 6. 365 636. 846 19059. 400 0. 0000
5 11.457 213.163 8375. 900 0. 0000
Bt 264298. 716 2064967. 576 100. 000
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IS HIES
Hi: 202553 G, 2025050301
Hor LW HAoEE (%) Hor B HAYEE (%)
H5|H 0.000 2T 4| Trans-2-C,Hy 0.000
/4 |CH, 96.371 52 T 43| Cis-2-C,H 0.000
Z.4%|CoHy 0.000 1,37 —%(1,3-C4Hg 0.000
2.4 CHs 0.000 & e [i-CsHy, 0.000
P4z CsHs 0.000 1F % 5z n-CsH, 0.000
| CsHe 0.000 — & 4B CO 0.000
T hali-CHi, 0.000 e [ 0.394
E T z[n-CHyg 0.000 %5/0 0.000
IF 5T 4| 1-CaH 0.000 w= N 3.235
#3+/100.000
B (0°C, 101. kPa)
= 38.486 |MJ/m> MR $=(38.22
fE A= 34.601 [MJ/m’ A B B =[0.5721
R A 3= 50.882 |MJ/m’ W= 0.740 |kg/m’
EREE B = 45.746 |MJ/m’ FRSFHCO,= 11.31
520V LR REH A $i= MARBIE R =
##4r% (15°C, 101.kPa)
Bl = 36.4105 |MJ/m’ #RpE#=(38.23
B = 32.7811 [MJ/m? Faxt s pE=0.5720
B A = 48.14 |MJ/m* W= 0.740 [kg/m’
IEAVE L B = 43.34 |MJ/m’ FRESHHCO,= 11.31
520Y L BAR 46 9 = RAFBERY=
0°C, 101.kPa 15C, 101kPa
B = 162 |kcal/m’ maE 153 keal/m®
g = 145 |kcal/m’® | 138 |kcal/m®
HEREE A K= 214 |kcal/m’ B PVE A 3 202 kcal/m’
16 BB 4 %= 192 |kcal/m® (&P 182 keal/m’
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0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
i 1] (min)
o aRR
e 5 e 42 PR B I 1] UEE 725 U T AR TE
1 R 0.748 26461. 963 69257. 453 3.0675
2 B 0.840 226462. 531 1856346. 125 95. 0847
3 1.432 3017. 091 16660. 100 0. 0000
4 — MR 2.765 5139. 521 43637. 500 1. 8477
5 6.198 1491. 626 56273. 898 0. 0000
6 11. 340 301. 852 10081. 000 0. 0000
7 13.707 35.192 960. 616 0. 0000
8 14. 607 19. 981 495.135 0. 0000
Bt 262929. 757 2053711. 828 100. 000
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bt B SR
Hi. 2025.5.3 G, 2025050302
oL HHREE (%) Ho LK HAEE (%)
5/5|H 0.000 S22 T %[ Trans-2-C,Hg 0.000
i g2 | CH, 95.085 JFi2 T 45| Cis-2-C,H 0.000
24| CH, 0.000 13T —J5|1,3-C,H, 0.000
7.4 C2Hg 0.000 Bk z|i-CsHy, 0.000
itz |CsHg 0.000 1F 4z |n-CsH, 0.000
| CsHe 0.000 —&fpak|CO 0.000
BT g|i-CyH,g 0.000 — %4k |CO, 1.848
1F T %z[n-C4Hyg 0.000 5[0, 0.000
5 T4 [1-CaHy 0.000 Hs N2 3.068
#3+/100.000
Ry E (0°C, 101.kPa)
= 37.973 [MJ/m® BRBE%=(37.28
= 34.139 [MJ/m’ IR =(0.5856
B BE A %= 49.623 (MJ/m> W= 0.757 |kg/m®
EREEEH= 44.613 [MJ/m’ FHSHHCOo,= 11.16
520Y LR B4 5 $i= RSB IE R $=
By E (15°C, 101.kPa)
EipE=|  35.9246 [MJ/m’ BRpES=|37.28
&= 32.3437 |MJ/m? Fxt a8 pE=0.5854
BB %= 46.95 |MJ/m> = 0.757 [kg/m’
1 H il 4 = 42.27 |MJ/m> FHSHHCo,= 11.16
520Y lEBMEREE G $i= RARBIERS=
0°C, 101.kPa 15°C, 101kPa
Bl = 159 |keal/m’ maval 151 keal/m’
1 Hu = 143 |kcal/m’ vl 136 |keal/m®
mEAEEEH= 208 |kcal/m’ P % 197 kcal/m’
TERVESE 3= 187 |keal/m’ EHEEES] 178 |kcalim’




N2000 #¥#E TAE¥,

RABIIIPTRE

i ﬁ T s
i : C:\¢ 1% \N2000 T\B20250503152342 5 1] . —05-03, 15:38:
L SISy 5 U U HEIE: R

SCIGEYIE]: 2025-05-03, 15:23:42

<

XM DA\RBS[AHTITE. mtd

fERAES A ARG 4. FID

R BFTHR

i & (B20250503152342)

BERESS: 2R

300
280
260 18
240 H
220
200/
180
E 160
1 140
120
100
80
60
40
20
0 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24 25
A 18] (min)
ST RE
g5 g 42 LR B st 1] 2 3:=1 g TH] AR 5E
1 AR 0. 748 28104. 826 74021. 609 3.2380
2 452 0. 840 227135.594 1872835. 375 94. 7427
3 1. 440 2916. 333 16104. 300 0. 0000
4 &AMk 2.773 5597.114 48286. 898 2.0193
5 6. 207 1429. 564 50362. 250 0. 0000
6 11. 348 338. 609 11480. 300 0. 0000
7 12. 598 20. 182 400. 594 0. 0000
8 13. 165 36. 091 1062. 684 0. 0000
9 13. 765 34. 818 851.213 0. 0000
Bt 265613. 131 2075405. 223 100. 000
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ez 5 AT R
Hin. 202553 g, 2025050303
Hor 2 HAnEE (%) Hor B HAEE (%)
55|Ha 0.000 27T 45| Trans-2-C,Hyg 0.000
Fi x| CH, 94.743 JFi2 T 45| Cis-2-C,Hg 0.000
Z.4%|CaHy 0.000 1,37 —4&1.3-C,H 0.000
2. CoHs 0.000 5 | i-CsHiy 0.000
itz |CaHs 0.000 1F [ 4z [0-CsHy, 0.000
17| CsHe 0.000 — | CO 0.000
2T li-CH, 0.000 — =4k |COs 2.019
T k{n-CiHyo 0.000 710, 0.000
iF 5 T4 [1-CoHg 0.000 wsNs 3.238
#3+(100.000
&#R4rE (0°C, 101.kPa)
A= 37.836 |MJ/m’ BRYE%=37.07
(EHE = 34.016 [MJ/m® HIX B BE=0.5879
Pl A e B = 49.344 |MJ/m® W= 0.760 |kg/m’
fER B 5 3= 44.363 |MJ/m’ FHSFHCO,= 11.12
520Y LR R E 2 5 $= AT IER Y=
4% (15C, 101.kPa)
= 35.7954 [MJ/m® BRpE$4=(37.07
I = 32.2273 [MJ/m’ X2 RE=(0.5878
P e M= 46.68 (MJ/m* W= 0.760 |kg/m’
IRV %= 42.03 [MJ/m’ FHSFHCo,= 11.12
520V LB R RVE S A $= RAFEIER Y=
0°C, 101.kPa 15°C, 101kPa
B = 159 [keal/m’ EidE 150 keal/m’
& E= 143 [kcal/m’ {EHVE 135 keal/m’
BB e = 207 |kcal/m® B BEE P 196 keal/m’
(& B2 1 = 186 [kcal/m® (BB 1 2 177 kcal/m’
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i 18] (min)
SITERE
g5 e 42 PR ¥ B[] g TG e T £ 5E
1 A 0.748 20696. 061 54312. 121 2. 3687
2 A e 0. 840 229898. 031 1905425. 500 96. 1015
3 1.432 3263. 359 18399. 400 0. 0000
4 ZEAKR 2.782 4347.188 36693. 398 1.5299
5 6.215 1460. 328 53758. 551 0. 0000
6 11. 382 309. 521 11424. 500 0. 0000
7 13. 448 56. 313 2691. 000 0. 0000
B 260030. 800 2082704. 471 100. 000
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BEE BB SHIER
Hi. 202553 = 2025050304
Hor 2 HOEE (%) Hor AR HOEE (%)
5/5|He 0.000 2T #%| Trans-2-C,Hy 0.000
Fi 4| CH, 96.102 Jifi2 T 3| Cis-2-C,Hg 0.000
Z.4%|CoHy 0.000 1,37 —#(1,3-C,;H, 0.000
Z.4z|CHg 0.000 B i 4z |i-CsHyp 0.000
itz |CsHs 0.000 1F &4z |n-CsHy, 0.000
47| CsH 0.000 — k| CO 0.000
5 T 4e[i-CHyo 0.000 — &4k CO, 1.530
Tz [n-CHyo 0.000 5|0 0.000
iF 5 T4 (1-CoHs 0.000 w N 2.369
#3+/100.000
4% (0°C, 101.kPa)
A= 38.379 [MJ/m® R %=(37.87
(&l = 34.504 |MJ/m’ AN R EE=]0.5796
A B = 50.411 [MJ/m’ W= 0.749 |kg/m’
I AVE A 2 %= 45.322 [MJ/m’ FHSHKCO,= 11.28
520V LB R RE L A H= RATEIERY=
4y % (15°C, 101.kPa)
A= 36.3088 |MJ/m’ Phpe34=37.87
(Kl = 32.6895 |MJ/m’ HIXTEEEE=0.5794
P e = 47.69 [MJ/m’ = 0.749 kg/m’
fERVELE 5 H= 42.94 MJ/m’ FHSAHCO,= 11.28
520y WRRAVEE A= REFTBIE R Y=
0°C, 101.kPa 15°C, 101kPa
B HvE= 161 |kcal/m’ w152 |keal/m®
(= 145 |kcal/m® (&3l 137 kcal/m’
- BB %= 212 |keal/m’ maEEs] 200 |keal/m’
B4 1 K= 190 |kcal/m® (B2 B 2 180 kcal/m’
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A 18] (min)
STEERE
357 e 24 £R ¥ B (] [z 3= g T AR TR
1 AR 0. 757 6953. 585 18576. 891 0.7842
2 FA g% 0. 848 226126. 391 1878715. 250 91. 7154
3 AR 2.707 13990. 844 148310. 297 5. 9852
4 6. 365 718.534 24105. 699 0. 0000
5 Ak 10. 973 1367. 804 55875. 102 1.5152
Bt 249157. 158 2125583. 238 100. 000
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BEITIEF
Hi#g. 202554 Y, 2025050401
MBI HOEE (%) Har B HAEE (%)
5 |He 0.000 2T 4| Trans-2-C,Hyg 0.000
B 4z |CH, 91.715 Jifi2 T 4| Cis-2-C,Hyg 0.000
7.4%|CoHy 0.000 1,37 —#%[1,3-C,Hg 0.000
74| CoH 0.000 & 4| i-CsHy 0.000
i kz|CsHs 1.515 1F & 4z |n-CsHy, 0.000
its| CsHe 0.000 — = 4k CO 0.000
T g i-CHg 0.000 —&Ukk| COs 5.985
iF T4z [n-CHyo 0.000 5|0 0.000
TF 5 T %[ 1-CaHs 0.000 w5 N2 0.784
#3+/100.000
4 # (0°C, 101.kPa)
B = 38.163 [MJ/m’ BRjga$=(35.77
Rl = 34.341 |MJ/m> Faxt 3 E=0.6316
= A 48.020 [MJ/m* = 0.817 |kg/m’
IR AVELE S 3= 43.210 |MJ/m’ FHSHCO,= 10.98
520y B RREEAE= PAFEIERS=
4% (15C, 101.kPa)
= 36.1009 [MJ/m® PR h=(35.77
(&M= 32.5309 |MJ/m> FaxtEsE={0.6313
B AVEAE B = 45.43 [MJ/m’ = 0.816 |kg/m’
(Gl 46 P 2= 40.93 [MJ/m° TS+ HCOo,= 10.98
520Y R ERVEE B $= MATIBIERS=
0°C, 101.kPa 15°C, 101kPa
B = 160 |kcal/m’ maE 152 keal/m’
&= 144 |kcal/m’ Eada| 137 keal/m’
BEHVE A B = 202 |kcal/m’ mavEsag 191 |keal/m’
TSR %= 181 |keal/m’ fEREsEs] 172 |keal/m’
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Fif &) (min)
SRR
g 5 [z 24 LR ¥ B ] e g g T AR a8
1 AR 0. 757 17441. 887 44193. 414 1. 8947
2 22) e 0. 848 231621. 156 1948412. 250 96. 6007
3 1. 448 3906. 006 22719.078 0. 0000
4 ZEALTR 2. 807 4286. 258 36712. 051 1. 5046
5 6. 340 945. 352 35614. 301 0. 0000
6 11. 532 274.878 9574. 600 0. 0000
Bt 258475. 538 2097225. 693 100. 000
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Hij. 2025.5.4 G, 2025050402
H o R Hosg (%) H o B HREE (%)
5/5[H 0.000 S22 T %% Trans-2-C,Hg 0.000
A 4z |CH, 96.601 Jifi2 T %3 | Cis-2-C Hg 0.000
7.5 CoH, 0.000 13T —#|1,3-C4H, 0.000
Z.4z|CoHg 0.000 B 1k z|i-CsHy, 0.000
7itz|CsHs 0.000 1 [ 4z |n-CsH,, 0.000
47| CsHs 0.000 — & Ak CO 0.000
5T gz{i-CaHyo 0.000 — &4k CO, 1.505
T k{n-CaHy 0.000 55/0 0.000
IF 5 T #5(1-CaHs 0.000 25| N2 1.895
#3+100.000
B4y % (0°C, 101.kPa)
= 38.578 [MJ/m’ Bhjpeh=(38.14
(B = 34.683 |MJ/m’ FAxt B RE=|0.5774
R P e = 50.770 [MJ/m’ W= 0.747 |kg/m®
(& B2 B 2= 45.644 |MJ/m’ FHSKFHCO,= 11.34
520Y EBRAVE 4 5 $= RAFTBIERS=
58 (15°C, 101.kPa)
B = 36.4974 |MJ/m’ PRpeH=38.14
fE#E=]  32.8593 [MJ/m’ A BE={0.5772
P A e H= 48.03 [MJ/m’ W= 0.746 |kg/m’
RHE 2 A %= 43.24 M)/m’ FHSHFHCOo,= 11.34
520Y MR RVE 2 5 $i= RAFTBIER =
0°C, 101.kPa 15°C, 101.kPa
EHE= 162 |kcal/m’ ERVE 153 kcal/m’
, i 146 [keal/m’ fEE| 138 |keal/m?
 ERGES G = 213 |kcal/m’ B e 202 kcal/m’
(& B 4 1 F = 192 |kcal/m® IERAVE A B 182 keal/m’
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pe| mmwEm | mweE | ewEm | e | DSOS g | s | s | s
1 PN 2025/5/3 15:15 82.75
2 U & 2025/5/3 10:25 52.53
3 oS AE 2025/5/3 9:00 58. 86
4 AL 2025/5/3 9:25 50. 94
5 SRR 2025/5/3 15:30 52
6 FRRIERFHE 2025/5/3 15:42 46. 85

20254
7 B b i 2025. 4. 30 9:37 50
8 KB 2025. 4. 30 10:23 29.9
9 B 2025. 4. 30 11:07 33.4
10 REE 2025.4.30 17:28 23.5
11 AL 2025. 4. 30 14:30 50.0
12 =B 2025.4.30 15:38 27.8
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